Review for 1050 Midterm 1

Distance Formula ,Ql-l ?n‘: a5

Find the distance between cach pair of points.

D (-5,0). (7.0) [(2.sF4(0-5 2) (-3,7), (-2.-2)
z4+o = {4 - JBz

3 (2,-1). 5,00 76 4) (-4,6), (-8,-7)

Midpoint Formula F,CJ e g 29-3¢, mg

Find the midpoint of the line segment with the given endpoints.

5) (3,-9), (-1,2) (I -2 ) 6) (7.-8), (-3.9)
(3,2

D (1), 0.3 (S-1) 8 (7.0, (2,-9
S g
Equation of a Line in Standard Form m= _.i‘ \JI Zmyto ?3’-'*"-9-w
Pl AvteysL ot s, m(x- %)
Write the standard form of the equation of the line through the giv :umts
9) through: (4, -5) and (0, 5) 5;(}’2.1.-. 1O 10) through: (0. 3} and (=5. 1)
Yx-5y=-15
11) through: (4, —4) and (5, 5) - 5= 9q(x-5) 12) through: (-5, -2} and (1, —4)
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Use the information provided to write the equation of each cirele. len am. o

1) Ends of a diameter: (13, 14) and (-13, —14) 2) Ends of a dismeter: (-9, 1) and (9. 1)

X =365 Y9yt 52

1) Ends of a diameter: (~19, —6) and (19, 6) 4) Ends of a diameter: (12, 3) and (-12. -3)
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Domain and Range of Functions

Identify the domain and range of each.

1) _v=\/; 2) y=3‘\’:
D: EO,Q'J) D: (o &)
@ (0,0 i Lo,@)
3) y=3Vx-4 X-420 D-.[Lhm) 4) y=Vx-4-4
o 0: [4,0)
Graph Using Tmnsformalinns‘j ~ M-y /’__’ B e ["‘L )
Find x- and y- intercepts O_m— —y qsﬁ_&' B (w 5 -1 "FTI“"‘ j
Given a graph, evaluate at ceﬂain wlues, give domain and range, u-ll when increasing W{: -t
decreasing, and constant. o
Composition of Functions, state domain of composition P 18-M
Sketch piecewise graph and evaluate at given values ‘9.(,"; f M43, 5?'
Inverse function, be able to find
Find the inverse of each function.
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